ORD. NO. 13-04

					ENGINEER	S ESTIMATE PERRIN ASPHALT COMPANY				VITO GIRONDA CONSTRUCTION COMPANY					
							525 Dan Street				1130 Brittain Road				
							Akron, Ohio 44310				Akron, Ohio 44305				
							(33)	0) 253-1020-Off	fice • (330) 253-1	.042-Fax	(330) 630-9399-Office ● (330) 630-3866-Fax				
ITEM	REF	ITEM	ITEM					, 							
NO.	NO.	DESCRIPTION	QTY	UNIT	UNIT PRICE	TOTAL	LABOR	MATERIAL	UNIT PRICE	TOTAL	LABOR	MATERIAL	UNIT PRICE	TOTAL	
1	203	Excavation of Existing Soils to Repair Sub-Grade	70.00	CY	\$14.18	\$992.60	\$18.00	\$0.00	\$18.00	\$1,260.00	\$10.00	\$5.00	\$15.00	\$1,050.00	
2	255	Full Depth Saw Cutting of Street Panels	1,976.00	LF	\$1.96	\$3,872.96	\$1.15	\$0.00	\$1.15	\$2,272.40	\$1.00	\$0.50	\$1.50	\$2,964.00	
3	304	3" of 304 Crushed Limestone Base Material Installed	193.44	CY	\$43.89	\$8,490.08	\$20.80	\$23.70	\$44.50	\$8,608.08	\$22.00	\$25.00	\$47.00	\$9,091.68	
4	451	Full Depth Concrete Joint Replacement	1,289.66	SY	\$119.98	\$154,733.41	\$54.19	\$30.81	\$85.00	\$109,621.10	\$43.00	\$45.00	\$88.00	\$113,490.08	
		Remove Existing Concrete or Asphalt Street, including Subgrade to a													
5	451	Depth of 3" (inches)	1,930.23	SY	\$13.88	\$26,791.59	\$10.75	\$0.00	\$10.75	\$20,749.97	\$9.00	\$1.00	\$10.00	\$19,302.30	
		Replace Street Sections with 7" Thick Reinforced Concrete; Type S High													
6	451	Early, including all Topsoil, Seeding, Mulching and Watering	1,930.23	SY	\$60.05	\$115,910.31	\$16.85	\$28.00	\$44.85	\$86,570.82	\$27.00	\$20.00	\$47.00	\$90,720.81	
7	604	Monument Box Adjust to Grade	3.00	EACH	\$157.50	\$472.50	\$100.00	\$50.00	\$150.00	\$450.00	\$150.00	\$150.00	\$300.00	\$900.00	
		Removal of 4" Reinforced Concrete or Brick Sidewalk and Replaced with													
		4" Reinforced Concrete at various locations. To Include 3" of 304													
		Limestone Bases and #10 Wire Mesh also to include Topsoil, Seeding,													
8	608	Mulching and Watering	1,000.00	SF	\$6.42	\$6,420.00	\$3.87	\$1.80	\$5.67	\$5,670.00	\$2.85	\$3.25	\$6.10	\$6,100.00	
		4" Reinforced Dyed Concrete Sidewalk, Removed and Replaced at Various													
		Locations. To Include 3" of 304 Limestone Bases and #10 Wire Mesh also													
9	608	to Include Topsoil, Seeding, Mulching and Watering	200.00	SF	\$7.79	\$1,558.00	\$3.85	\$2.25	\$6.10	\$1,220.00	\$5.00	\$3.50	\$8.50	\$1,700.00	
		Remove and Replace in Kind, Handicap Ramps, Complete in Place,													
		including ADA Solutions, Cast in Place Composite Paver Tiles, Brick Red in													
10	608	Color	18.00	EACH	\$850.00	\$15,300.00	\$275.00	\$175.00	\$450.00	\$8,100.00	\$150.00	\$200.00	\$350.00	\$6,300.00	
		Sandstone Sidewalk Removed and Replaced with New Sandstone using 3"													
		of 304 Limestone or Limestone Screenings, Compacted, as directed by													
11		Engineer, Includes Topsoil, Seeding, Mulching and Watering	200.00	SF	\$14.00	\$2,800.00	\$18.00	\$20.00	\$38.00	\$7,600.00	\$8.00	\$6.00	\$14.00	\$2,800.00	
12		Maintaining Traffic	1.00	LS	\$10,920.00	\$10,920.00	\$8,000.00	\$2,000.00	\$10,000.00	\$10,000.00	\$5,500.00	\$3,000.00	\$8,500.00	\$8,500.00	
13	661	Root Cutting, All Sidewalks	400.00	LF	\$8.66	\$3,464.00	\$2.50	\$0.00	\$2.50	\$1,000.00	\$0.50	\$0.50	\$1.00	\$400.00	
		CT PRICE			\$351,725.45				\$263,122.37				\$263,318.87		
CONTRA	ACTORS	BID							\$263,122.37				\$284,622.09		
DIFFEREN	NCE				\$351,725.45				(\$0.00)	*Multiplication	Error-Item #3		(\$21,303.22)		

ORD. NO. 13-04

					LIBERTA CONSTRUCTION COMPANY 1001 Eastwood Avenue Akron, Ohio 44305			DAN RAY CONSTRUCTION, LLC 4500 Lee Road, Suite 207 Cleveland, Ohio 44128				A & J CEMENT CONTRACTORS, INC. 27900 Lakeland Blvd. Euclid, Ohio 44132				
ITEM	REF	ITEM	ITEM		(330) 794-9448-Office ● (330) 794-2858-Fax			(216) 518-8484-Office ● (216) 663-0909-Fax				(216) 289-6600-Office ● (216) 289-6636-Fax				
NO.	NO.	DESCRIPTION	QTY	UNIT	LABOR	MATERIAL	UNIT PRICE	TOTAL	LABOR	MATERIAL	UNIT PRICE	TOTAL	LABOR	MATERIAL	UNIT PRICE	TOTAL
1	203	Excavation of Existing Soils to Repair Sub-Grade	70.00	СҮ	\$20.00	\$0.00	\$20.00	\$1,400.00	\$11.99	\$2.83	\$14.82	\$1,037.40	\$20.00	\$0.00	\$20.00	\$1,400.00
2	255	Full Depth Saw Cutting of Street Panels	1,976.00	LF	\$1.74	\$0.00	\$1.74	\$3,438.24	\$1.43	\$0.14	\$1.57	\$3,102.32	\$1.00	\$0.20	\$1.20	\$2,371.20
3	304	3" of 304 Crushed Limestone Base Material Installed	193.44	СҮ	\$7.00	\$37.00	\$44.00	\$8,511.36	\$12.85	\$31.00	\$43.85	\$8,482.34	\$5.00	\$35.00	\$40.00	\$7,737.60
4	451	Full Depth Concrete Joint Replacement	1,289.66	SY	\$56.00	\$40.00	\$96.00	\$123,807.36	\$43.79	\$40.12	\$83.91	\$108,215.37	\$55.00	\$40.00	\$95.00	\$122,517.70
		Remove Existing Concrete or Asphalt Street, including Subgrade to a														
5	451	Depth of 3" (inches)	1,930.23	SY	\$10.00	\$0.00	\$10.00	\$19,302.30	\$12.72	\$0.00	\$12.72	\$24,552.53	\$8.00	\$2.00	\$10.00	\$19,302.30
		Replace Street Sections with 7" Thick Reinforced Concrete; Type S High														
6	451	Early, including all Topsoil, Seeding, Mulching and Watering	1,930.23	SY	\$26.50	\$22.00	\$48.50	\$93,616.16	\$20.88	\$40.12	\$61.00	\$117,744.03	\$30.00	\$30.00	\$60.00	\$115,813.80
7	604	Monument Box Adjust to Grade	3.00	EACH	\$125.00	\$0.00	\$125.00	\$375.00	\$135.00	\$0.00	\$135.00	\$405.00	\$100.00	\$0.00	\$100.00	\$300.00
8	608	Removal of 4" Reinforced Concrete or Brick Sidewalk and Replaced with 4" Reinforced Concrete at various locations. To Include 3" of 304 Limestone Bases and #10 Wire Mesh also to include Topsoil, Seeding, Mulching and Watering	1,000.00	SF	\$3.75	\$2.00	\$5.75	\$5,750.00	\$2.81	\$2.91	\$5.72	\$5,720.00	\$5.00	\$3.00	\$8.00	\$8,000.00
9		4" Reinforced Dyed Concrete Sidewalk, Removed and Replaced at Various Locations. To Include 3" of 304 Limestone Bases and #10 Wire Mesh also to Include Topsoil, Seeding, Mulching and Watering	200.00	SF	\$3.90	\$4.10	\$8.00	\$1,600.00		\$3.01	\$5.82	\$1,164.00	\$10.00	\$8.00	\$18.00	\$3,600.00
10	608	Remove and Replace in Kind, Handicap Ramps, Complete in Place, including ADA Solutions, Cast in Place Composite Paver Tiles, Brick Red in Color	18.00	EACH	\$320.00	\$260.00	\$580.00	\$10,440.00	\$300.00	\$450.00	\$750.00	\$13,500.00	\$300.00	\$300.00	\$600.00	\$10,800.00
11		Sandstone Sidewalk Removed and Replaced with New Sandstone using 3" of 304 Limestone or Limestone Screenings, Compacted, as directed by Engineer, Includes Topsoil, Seeding, Mulching and Watering	200.00	SF	\$25.00	\$14.00	\$39.00	\$7,800.00		\$19.30	\$22.30	\$4,460.00	\$20.00	\$30.00	\$50.00	\$10,000.00
12		Maintaining Traffic	1.00	LS	\$9,500.00	\$0.00	\$9,500.00	\$9,500.00	\$12,800.00	\$0.00	\$12,800.00	\$12,800.00	\$18,000.00	\$2,000.00	\$20,000.00	\$20,000.00
13	661	Root Cutting, All Sidewalks	400.00	LF	\$11.00	\$0.00	\$11.00	\$4,400.00	\$2.41	\$0.00	\$2.41	\$964.00	\$10.00	\$0.00	\$10.00	\$4,000.00
TOTAL CONTRACT PRICE								\$289,940.42				\$302,146.99				\$325,842.60
CONTRACTORS BID								\$289,940.42				\$302,146.99				\$325,842.60
DIFFERENCE								(\$0.00)				\$0.00				\$0.00

ORD. NO. 13-04

BID OPENING DATE: WEDNESDAY, APRIL 17, 2013

						LOCKHART C	ONCRETE COMP	ANY		
					800 W Waterloo Road					
						Akron, Ohio 44314				
					(33	30) 745-6520-C	office • (330) 745-	30) 745-5711-Fax		
ITEM	REF	ITEM	ITEM							
NO.	NO.	DESCRIPTION	QTY	UNIT	LABOR	MATERIAL	UNIT PRICE	TOTAL		
1	203	Excavation of Existing Soils to Repair Sub-Grade	70.00	СҮ	\$7.00	\$1.00	\$8.00	\$560.00		
2	255	Full Depth Saw Cutting of Street Panels	1,976.00	LF	\$1.70	\$0.30	\$2.00	\$3,952.00		
3	304	3" of 304 Crushed Limestone Base Material Installed	193.44	CY	\$3.00	\$22.00	\$25.00	\$4,836.00		
4	451	Full Depth Concrete Joint Replacement	1,289.66	SY	\$100.00	\$33.00	\$133.00	\$171,524.78		
		Remove Existing Concrete or Asphalt Street, including Subgrade to a								
5	451	Depth of 3" (inches)	1,930.23	SY	\$4.50	\$0.50	\$5.00	\$9,651.15		
		Replace Street Sections with 7" Thick Reinforced Concrete; Type S High								
6	451	Early, including all Topsoil, Seeding, Mulching and Watering	1,930.23	SY	\$50.00	\$30.00	\$80.00	\$154,418.40		
7	604	Monument Box Adjust to Grade	3.00	EACH	\$65.00	\$35.00	\$100.00	\$300.00		
		Removal of 4" Reinforced Concrete or Brick Sidewalk and Replaced with								
		4" Reinforced Concrete at various locations. To Include 3" of 304								
		Limestone Bases and #10 Wire Mesh also to include Topsoil, Seeding,								
8	608	Mulching and Watering	1,000.00	SF	\$5.00	\$11.00	\$16.00	\$16,000.00		
		4" Reinforced Dyed Concrete Sidewalk, Removed and Replaced at Various								
		Locations. To Include 3" of 304 Limestone Bases and #10 Wire Mesh also								
9	608	to Include Topsoil, Seeding, Mulching and Watering	200.00	SF	\$5.00	\$4.00	\$9.00	\$1,800.00		
		Remove and Replace in Kind, Handicap Ramps, Complete in Place,								
		including ADA Solutions, Cast in Place Composite Paver Tiles, Brick Red in								
10	608	Color	18.00	EACH	\$750.00	\$250.00	\$1,000.00	\$18,000.00		
		Sandstone Sidewalk Removed and Replaced with New Sandstone using 3"								
		of 304 Limestone or Limestone Screenings, Compacted, as directed by								
11	609	Engineer, Includes Topsoil, Seeding, Mulching and Watering	200.00	SF	\$13.00	\$27.00	\$40.00	\$8,000.00		
12	614	Maintaining Traffic	1.00	LS	\$7,700.00	\$2,300.00	\$10,000.00	\$10,000.00		
13	661	Root Cutting, All Sidewalks	400.00	LF	\$1.70	\$0.30	\$2.00	\$800.00		
TOTAL										
		ACT PRICE						\$399,842.33		
CONTR	ACTORS	BID						\$399,842.33		

DIFFERENCE

\$0.00

ORD. NO. 13-04

ALTERNATE BID					ENGINEER	S ESTIMATE			PHALT COMPAN	(VITO GIRONDA CONSTRUCTION COMPANY 1130 Brittain Road				
								Akron	n, Ohio 44310		Akron, Ohio 44305				
							(22			040 F					
							(33	0) 253-1020-01	ffice • (330) 253-1	042-Fax	(330) 630-9399-Office • (330) 630-3866-Fax				
ITEM	REF	ITEM	ITEM												
NO.	NO.	DESCRIPTION	QTY		UNIT PRICE	TOTAL	LABOR	MATERIAL	UNIT PRICE	TOTAL	LABOR	MATERIAL	UNIT PRICE	TOTAL	
1A	203	Excavation of Existing Soils to Repair Subgrade	70.00	CY	\$14.18	\$992.60	\$50.00	\$0.00	\$50.00	\$3,500.00	\$10.00	\$5.00	\$15.00	\$1,050.00	
2A	254	Pavement Planing, Bituminous, 1-1/2" Thickness	26.76	SY	\$10.00	\$267.60	\$70.00	\$0.00	\$70.00	\$1,873.20	\$20.00	\$10.00	\$30.00	\$802.80	
3A	255	Full Depth Saw Cutting of Street Panels	1,531.00	LF	\$1.96	\$3,000.76	\$1.50	\$0.00	\$1.50	\$2,296.50	\$1.00	\$0.50	\$1.50	\$2,296.50	
4A	304	3" of 304 Crushed Limestone Base Material, Installed	99.57	CY	\$43.89	\$4,370.13	\$24.00	\$24.00	\$48.00	\$4,779.36	\$22.00	\$25.00	\$47.00	\$4,679.79	
5A	448	Asphalt, Type I Surface (Medium) PG 64-22, including Tack	1.12	CY	\$669.38	\$749.71	\$1,350.00	\$150.00	\$1,500.00	\$1,680.00	\$300.00	\$400.00	\$700.00	\$784.00	
6A	451	Full Depth Concrete Joint Replacement	2,116.33	SY	\$119.98	\$253,917.27	\$65.00	\$35.00	\$100.00	\$211,633.00	\$43.00	\$45.00	\$88.00	\$186,237.04	
		Remove Existing Pavement, including Subgrade to a Depth of 3".													
		Reconstruct Subgrade and Subbase using 304 Limestone to Bottom of													
7A	451	Proposed Pavement	106.00	SY	\$25.00	\$2,650.00	\$15.00	\$10.00	\$25.00	\$2,650.00	\$20.00	\$10.00	\$30.00	\$3,180.00	
		Remove Existing Concrete or Asphalt Street, including Subgrade to a													
8A	451	Depth of 3" (inches)	1,194.78	SY	\$13.88	\$16,583.55	\$13.75	\$0.00	\$13.75	\$16,428.23	\$9.00	\$1.00	\$10.00	\$11,947.80	
		Replace Street Section with Minimum of 8" Dyed Concrete with Type S													
9A	451	High Early	56.00	SY	\$105.00	\$5,880.00	\$71.00	\$54.00	\$125.00	\$7,000.00	\$90.00	\$40.00	\$130.00	\$7,280.00	
		Replace Street Section with Minimum of 8" Dyed and Stamped Concrete													
10A		with Type S High Early	50.00	SY	\$94.50	\$4,725.00	\$81.00	\$54.00	\$135.00	\$6,750.00	\$75.00	\$60.00	\$135.00	\$6,750.00	
		Replace Street Sections with 7" Thick Reinforced Concrete, Type S High						-			-	-	-		
11A	451	Early, including all Topsoil, Seeding, Mulching and Watering	1,194.78	SY	\$60.05	\$71,746.54	\$25.00	\$30.00	\$55.00	\$65,712.90	\$27.00	\$20.00	\$47.00	\$56,154.66	
		Removal and Replacement of Type 6 Concrete Curb including Saw-	,	_	,	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,		1	,		,	,	1	1 ,	
12A		Cutting or Type 3 Rolled Curb with Curb and Gutter	31.00	LF	\$31.20	\$967.20	\$33.00	\$12.00	\$45.00	\$1,395.00	\$20.00	\$10.00	\$30.00	\$930.00	
13A	604	Monument Box Adjust to Gradw	5.00	EACH	\$157.50	\$787.50	\$300.00	\$100.00	\$400.00	\$2,000.00	\$150.00	\$150.00	\$300.00	\$1,500.00	
14A		Manhole Adjust to Grade, no risers to be used	2.00	EACH	\$262.50	\$525.00	\$600.00	\$200.00	\$800.00	\$1,600.00	\$300.00	\$300.00	\$600.00	\$1,200.00	
/					7-0-00	+ ···		7	70	+ - /	7	7	7	+ - /	
TOTAL	TOTAL CONTRACT PRICE									\$329,298.19				\$284,792.59	
						\$367,162.85				\$329,298.19				\$284,792.59	
CONTRACTORS BID DIFFERENCE						\$367,162.85				\$0.00				\$2 84,792.39 \$0.00	
DIFFERE	NCE			3507,102.85				ŞU.UU				ŞU.UU			

ORD. NO. 13-04

	ALTERNATE BID						TRUCTION COM	PANY	DAN RAY CONSTRUCTION, LLC 4500 Lee Road, Suite 207				A & J CEMENT CONTRACTORS, INC. 27900 Lakeland Blvd.			
						Akron	, Ohio 44305		Cleveland, Ohio 44128				Euclid, Ohio 44132			
									(2)							
					(330) 794-9448-Office • (330) 794-2858-Fax				(216) 518-8484-Office ● (216) 663-0909-Fax				(216) 289-6600-Office • (216) 289-6636-Fax			
ITEM	REF	ITEM	ITEM													
NO.	NO.	DESCRIPTION	QTY	UNIT	LABOR	MATERIAL	UNIT PRICE	TOTAL	LABOR	MATERIAL	UNIT PRICE	TOTAL	LABOR	MATERIAL	UNIT PRICE	TOTAL
1A		Excavation of Existing Soils to Repair Subgrade	70.00	CY	\$20.00	\$0.00	\$20.00	\$1,400.00	\$11.99	\$2.83	\$14.82	\$1,037.40	\$20.00	\$0.00	\$20.00	\$1,400.00
2A		Pavement Planing, Bituminous, 1-1/2" Thickness	26.76	SY	\$34.00	\$0.00	\$34.00	\$909.84	\$6.00	\$0.00	\$6.00	\$160.56	\$10.00	\$0.00	\$10.00	\$267.60
3A		Full Depth Saw Cutting of Street Panels	1,531.00	LF	\$1.80	\$0.00	\$1.80	\$2,755.80	\$1.43	\$0.14	\$1.57	\$2,403.67	\$1.00	\$0.20	\$1.20	\$1,837.20
4A		3" of 304 Crushed Limestone Base Material, Installed	99.57	CY	\$7.00	\$37.00	\$44.00	\$4,381.08	\$12.85	\$31.00	\$43.85	\$4,366.14	\$5.00	\$35.00	\$40.00	\$3,982.80
5A		Asphalt, Type I Surface (Medium) PG 64-22, including Tack	1.12	CY	\$271.00	\$150.00	\$421.00	\$471.52	\$500.00	\$200.00	\$700.00	\$784.00	\$160.00	\$90.00	\$250.00	\$280.00
6A		Full Depth Concrete Joint Replacement	2,116.33	SY	\$56.00	\$40.00	\$96.00	\$203,167.68	\$43.79	\$40.12	\$83.91	\$177,581.25	\$55.00	\$40.00	\$95.00	\$201,051.35
		Remove Existing Pavement, including Subgrade to a Depth of 3".														
		Reconstruct Subgrade and Subbase using 304 Limestone to Bottom of														
7A	451	Proposed Pavement	106.00	SY	\$15.00	\$9.00	\$24.00	\$2,544.00	\$27.88	\$40.12	\$68.00	\$7,208.00	\$10.00	\$10.00	\$20.00	\$2,120.00
		Remove Existing Concrete or Asphalt Street, including Subgrade to a														
8A	-	Depth of 3" (inches)	1,194.78	SY	\$18.00	\$0.00	\$18.00	\$21,506.04	\$12.72	\$0.00	\$12.72	\$15,197.60	\$8.00	\$2.00	\$10.00	\$11,947.80
		Replace Street Section with Minimum of 8" Dyed Concrete with Type S														
9A	451	High Early	56.00	SY	\$139.00	\$53.00	\$192.00	\$10,752.00	\$23.80	\$42.00	\$65.80	\$3,684.80	\$90.00	\$40.00	\$130.00	\$7,280.00
		Replace Street Section with Minimum of 8" Dyed and Stamped Concrete														
10A	451	with Type S High Early	50.00	SY	\$145.00	\$54.00	\$199.00	\$9,950.00	\$46.50	\$42.00	\$88.50	\$4,425.00	\$110.00	\$90.00	\$200.00	\$10,000.00
		Replace Street Sections with 7" Thick Reinforced Concrete, Type S High														
11A	451	Early, including all Topsoil, Seeding, Mulching and Watering	1,194.78	SY	\$27.00	\$22.00	\$49.00	\$58,544.22	\$20.88	\$40.12	\$61.00	\$72,881.58	\$30.00	\$30.00	\$60.00	\$71,686.80
		Removal and Replacement of Type 6 Concrete Curb including Saw-														
12A	451	Cutting or Type 3 Rolled Curb with Curb and Gutter	31.00	LF	\$31.00	\$13.00	\$44.00	\$1,364.00	\$9.50	\$13.00	\$22.50	\$697.50	\$40.00	\$10.00	\$50.00	\$1,550.00
13A	604	Monument Box Adjust to Gradw	5.00	EACH	\$125.00	\$0.00	\$125.00	\$625.00	\$135.00	\$0.00	\$135.00	\$675.00	\$100.00	\$0.00	\$100.00	\$500.00
14A	604	Manhole Adjust to Grade, no risers to be used	2.00	EACH	\$317.00	\$188.00	\$505.00	\$1,010.00	\$250.00	\$0.00	\$250.00	\$500.00	\$300.00	\$100.00	\$400.00	\$800.00
TOTAL C	ONTRA	ACT PRICE		\$319,381.18				\$291,602.51				\$314,703.55				
CONTR	CONTRACTORS BID						\$319,381.18				\$291,572.50					\$314,703.55
DIFFERENCE						\$0.00						\$30.01				

ORD. NO. 13-04

BID OPENING DATE: WEDNESDAY, APRIL 17, 2013

		ALTERNATE BID					ONCRETE COMPA Waterloo Road	ANY
						Akror	n, Ohio 44314	
					(3:	30) 745-6520-C	Office • (330) 745-5	711-Fax
ITEM	REF	ITEM	ITEM					
NO.	NO.	DESCRIPTION	QTY	UNIT	LABOR	MATERIAL	UNIT PRICE	TOTAL
1A	203	Excavation of Existing Soils to Repair Subgrade	70.00	CY	\$7.00	\$1.00	\$8.00	\$560.00
2A	254	Pavement Planing, Bituminous, 1-1/2" Thickness	26.76	SY	\$13.00	\$7.00	\$20.00	\$535.20
3A	255	Full Depth Saw Cutting of Street Panels	1,531.00	LF	\$1.70	\$0.30	\$2.00	\$3,062.00
4A	304	3" of 304 Crushed Limestone Base Material, Installed	99.57	CY	\$3.00	\$22.00	\$25.00	\$2,489.25
5A	448	Asphalt, Type I Surface (Medium) PG 64-22, including Tack	1.12	CY	\$143.00	\$157.00	\$300.00	\$336.00
6A	451	Full Depth Concrete Joint Replacement	2,116.33	SY	\$100.00	\$33.00	\$133.00	\$281,471.89
		Remove Existing Pavement, including Subgrade to a Depth of 3". Reconstruct Subgrade and Subbase using 304 Limestone to Bottom of						
7A	451	Proposed Pavement	106.00	SY	\$8.00	\$2.00	\$10.00	\$1,060.00
		Remove Existing Concrete or Asphalt Street, including Subgrade to a						
8A	451	Depth of 3" (inches)	1,194.78	SY	\$4.50	\$0.50	\$5.00	\$5,973.90
		Replace Street Section with Minimum of 8" Dyed Concrete with Type S						
9A	451	High Early	56.00	SY	\$90.00	\$50.00	\$140.00	\$7 <i>,</i> 840.00
		Replace Street Section with Minimum of 8" Dyed and Stamped Concrete						
10A	451	with Type S High Early	50.00	SY	\$100.00	\$50.00	\$150.00	\$7,500.00
		Replace Street Sections with 7" Thick Reinforced Concrete, Type S High						
11A	451	Early, including all Topsoil, Seeding, Mulching and Watering	1,194.78	SY	\$50.00	\$30.00	\$80.00	\$95,582.40
		Removal and Replacement of Type 6 Concrete Curb including Saw-						
12A	451	Cutting or Type 3 Rolled Curb with Curb and Gutter	31.00	LF	\$35.00	\$15.00	\$50.00	\$1,550.00
13A	604	Monument Box Adjust to Gradw	5.00	EACH	\$65.00	\$35.00	\$100.00	\$500.00
14A	604	Manhole Adjust to Grade, no risers to be used	2.00	EACH	\$235.00	\$65.00	\$300.00	\$600.00
TOTAL O	CONTRA	CT PRICE						\$409,060.64
CONTR	ACTORS	BID						\$409,060.64
								· · ·

DIFFERENCE

\$0.00